

PAPER DETAILS

TITLE: Different Computational Approach for Sumudu Integral Transform by Using Differential Transform Method

AUTHORS: Murat GÜBES

PAGES: 233-238

ORIGINAL PDF URL: <https://dergipark.org.tr/tr/download/article-file/598904>

Different Computational Approach for Sumudu Integral Transform by Using Differential Transform Method

Murat Gübeş^{a*}

^aPhD student, Department of Mathematics, Faculty of Science, Selçuk University, Konya, Turkey

*Corresponding author

Article Info

Keywords: Sumudu transform, Differential transform method, Numerical solutions, Computational method

2010 AMS: 00A69, 34A25, 44A10, 65R10

Received: 12 June 2018

Accepted: 3 September 2018

Available online: 20 December 2018

Abstract

In this work, we present a different technique for calculation of Sumudu Integral Transform (SIT) by considering differential transform method (DTM). By means of our technique, Sumudu Transform of functions is obtained easily without complicated integration procedures.

1. Introduction

In mathematical calculus, integral transforms are a specific branch that has used various applied area. In 1993, Watugala introduced a new integral transform called Sumudu Integral Transform (SIT) to solve differential equations and engineering problems [1]. The Sumudu Transform of the function $f(t)$ is defined over the set of A (seen [1], [2], [3], [4])

$$A = \{f(t) : \exists M, \tau_1, \tau_2 > 0, |f(t)| < Me^{\frac{|t|}{\tau_i}}, \text{ if } t \in (-1)^i \times [0, \infty)\}$$

as below formula

$$F(u) = S[f(t) : u] = \int_0^\infty f(ut)e^{-t} dt \quad u \in (-\tau_1, \tau_2) \quad (1.1)$$

Also, modified version of (1.1) is presented as

$$F(u) = \int_0^\infty \frac{f(t)e^{-\frac{t}{u}}}{u} dt \quad u \in (-\tau_1, \tau_2) \quad (1.2)$$

by Watugala [1], [4] and Belgacem [2],[3]. Hereafter, many authors consider the Sumudu Integral Transform to investigate properties, applications and relations with other transforms [1]-[10].

In recent time, homotopy perturbation, differential transform and adomian decomposition methods are applied to find Laplace transform as seen [11],[12],[13] respectively. Furthermore, homotopy perturbation method is also applied to Sumudu transform [8].

The goal of this paper is to present a different approach to obtain Sumudu transform of functions. In order to do this, we use the differential transform method (DTM) and first order initial value problem which has a solution that corresponds to Sumudu transform of desired functions. DTM is very famous and powerful analytic technique and it does not required complex integration process. So, very accurate and efficient results are obtained easily.

Functions	Transformed form of functions
$v(t) = e^{at}$	$V(k) = \frac{a^k}{k!}$
$v(t) = \cos(at)$	$V(k) = \begin{cases} \frac{a^k(-1)^{\frac{k}{2}}}{k!}, & \text{if } k \text{ even} \\ 0, & \text{if } k \text{ odd} \end{cases}$
$v(t) = \sin(at)$	$V(k) = \begin{cases} \frac{a^k(-1)^{\frac{k-1}{2}}}{k!}, & \text{if } k \text{ odd} \\ 0, & \text{if } k \text{ even} \end{cases}$
$v(t) = \cosh(at)$	$V(k) = \begin{cases} \frac{a^k}{k!}, & \text{if } k \text{ even} \\ 0, & \text{if } k \text{ odd} \end{cases}$
$v(t) = \sinh(at)$	$V(k) = \begin{cases} \frac{a^k}{k!}, & \text{if } k \text{ odd} \\ 0, & \text{if } k \text{ even} \end{cases}$

Table 1: Basic transformations of DTM for some functions.

2. Basic idea of DTM

The differential transform of the analytical $v(t)$ function is defined (seen [14], [15], [16], [17]) as

$$V(k) = \frac{1}{k!} \left[\frac{d^k}{dt^k} v(t) \right]_{t=0} \quad (2.1)$$

where $V(k)$ is the transformed function of $v(t)$ which is called spectrum function. And the inverse transform of $V(k)$ is defined (seen [14], [15], [16], [17]) as

$$v(t) = \sum_{k=0}^{\infty} V(k) t^k \quad (2.2)$$

Combining (2.1) and (2.2), we obtain the DTM solution of $v(t)$ as follow

$$v(t) = \sum_{k=0}^n \frac{1}{k!} \left[\frac{d^k}{dt^k} v(t) \right]_{t=0} t^k + R_{n+1}(t) \quad (2.3)$$

Here $R_{n+1}(t) = \sum_{k=n+1}^{\infty} V(k) t^k$ are remaining terms of solution series. Some of the transformed functions are presented in Table 1.

3. Results by using DTM

Theorem 3.1. Let $v(t)$ is an analytic function and r is positive constant. Also, we consider the linear initial value problem as follow

$$\begin{aligned} v(t)' &= \frac{1}{r} v(t) + \frac{1}{r} q(t) \\ v(0) &= 0 \end{aligned} \quad (3.1)$$

Then, the Sumudu transform of $q(t)$ is

$$S[q(t)] = \left[e^{-\frac{t}{r}} \sum_{i=0}^{\infty} V(i) t^i \right]_{t=0}^{t=\infty}$$

Here, $V(i)$ is differential transform of $v(t)$.

Proof. First of all, we can write the solution of (3.1) as

$$v(t) = e^{\frac{t}{r}} \left(\int \frac{q(t) e^{-\frac{t}{r}}}{r} dt \right) \quad (3.2)$$

and by rewriting two side of (3.2) from zero to infinity, we obtain the relation between (3.2) and Sumudu transform as follow

$$\left[v(t) e^{-\frac{t}{r}} \right]_{t=0}^{t=\infty} = \left(\int_0^{\infty} \frac{q(t) e^{-\frac{t}{r}}}{r} dt \right) \quad (3.3)$$

It is clearly seen that right hand side of (3.3) is the definition of Sumudu transform of $q(t)$ as seen in (1.2).

In order to find Sumudu transform of $q(t)$, we construct the differential transformed form of (3.1) as

$$V(i+1) = \frac{1}{r} \frac{V(i)}{i+1} + \frac{1}{r} \frac{Q(i)}{i+1}$$

$$V(0) = 0$$
(3.4)

where $V(i)$, $Q(i)$ are differential transformed functions of $v(t)$ and $q(t)$ respectively. Then, by using the inverse differential transform as in (2.2), (2.3), we obtain the DTM solution of $v(t)$ as

$$v(t) = \sum_{i=0}^{\infty} V(i)t^i$$
(3.5)

Finally, put (3.5) into (3.3), we find the sumudu transform of $q(t)$ as

$$S[q(t)] = \left(\int_0^{\infty} \frac{q(t)e^{-\frac{t}{r}}}{r} dt \right) = \left[e^{-\frac{t}{r}} \sum_{i=0}^{\infty} V(i)t^i \right]_{t=0}^{t=\infty}$$
(3.6)

This completes the proof. □

The following illustrations are given to show accuracy, efficiency and easy applicability of our approach to find Sumudu transform of functions.

Case 1: In the Theorem 3.1, let $q(t) = e^{at}$. Then considering (3.4) and transformed form of $q(t) = e^{at}$, we can write

$$V(i+1) = \frac{1}{r} \frac{V(i)}{i+1} + \frac{1}{r(i+1)} \frac{a^i}{i!}$$

$$V(0) = 0$$

Some of the $V(i)$ are obtained as

$$V(1) = \frac{1}{r} \quad V(2) = \frac{1+ar}{2!r^2} \quad V(3) = \frac{1+ar+a^2r^2}{3!r^3}$$

$$V(4) = \frac{1+ar+a^2r^2+a^3r^3}{4!r^4} \quad V(5) = \frac{1+ar+a^2r^2+a^3r^3+a^4r^4}{5!r^5}$$

$$V(6) = \frac{1+ar+a^2r^2+a^3r^3+a^4r^4+a^5r^5}{6!r^6}$$

$$\vdots \quad \quad \quad \vdots \quad \quad \quad \vdots$$
(3.7)

From (3.5) and from (3.7), we have

$$\sum_{i=0}^{\infty} V(i)t^i = \left(\frac{t}{r} + \frac{t^2}{2!r^2} + \frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \dots \right) + ar \left(\frac{t^2}{2!r^2} + \frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \dots \right)$$

$$+ a^2r^2 \left(\frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \frac{t^7}{7!r^7} + \dots \right) + a^3r^3 \left(\frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \frac{t^7}{7!r^7} + \frac{t^8}{8!r^8} + \dots \right) + \dots$$
(3.8)

And the equation (3.8) can be written as equivalently following

$$\sum_{i=0}^{\infty} V(i)t^i = \left(e^{\frac{t}{r}} - 1 \right) + ar \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} \right) + a^2r^2 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} \right)$$

$$+ a^3r^3 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} \right) + a^4r^4 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} \right) + \dots$$
(3.9)

Finally, by using (3.6) and (3.9) we find the Sumudu transform of e^{at}

$$S[e^{at}] = \left\{ e^{-\frac{t}{r}} \left(e^{\frac{t}{r}} - 1 \right) + ar \times e^{-\frac{t}{r}} \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} \right) + a^2r^2 \times e^{-\frac{t}{r}} \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} \right) + \dots \right\}_{t=0}^{t=\infty}$$

$$= 1 + ar + a^2r^2 + a^3r^3 + a^4r^4 + a^5r^5 + a^6r^6 + \dots$$

$$= \frac{1}{1-ar}$$

Case 2: In the Theorem 3.1, let $q(t) = \cos(at)$. Then, from (3.4) and Table 1 we can write

$$V(i+1) = \frac{1}{r} \frac{V(i)}{i+1} + \frac{1}{r(i+1)} \begin{cases} \frac{a^i(-1)^{\frac{i}{2}}}{i!}, & i \text{ even} \\ 0, & i \text{ odd} \end{cases}$$

$$V(0) = 0$$

Thus, $V(i)$ are obtained as

$$\begin{aligned} V(1) &= \frac{1}{r} & V(2) &= \frac{1+ar}{2!r^2} & V(3) &= \frac{1-a^2r^2}{3!r^3} & V(4) &= \frac{1-a^2r^2}{4!r^4} \\ V(5) &= \frac{1-a^2r^2+a^4r^4}{5!r^5} & V(6) &= \frac{1-a^2r^2+a^4r^4}{6!r^6} \\ V(7) &= \frac{1-a^2r^2+a^4r^4-a^6r^6}{7!r^7} & V(8) &= \frac{1-a^2r^2+a^4r^4-a^6r^6}{8!r^8} \\ &\vdots & & \vdots & & \vdots \end{aligned} \quad (3.10)$$

Using the (3.5) and (3.10), we have

$$\begin{aligned} \sum_{i=0}^{\infty} V(i)t^i &= \left(\frac{t}{r} + \frac{t^2}{2!r^2} + \frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \dots \right) - a^2r^2 \left(\frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \dots \right) \\ &\quad + a^4r^4 \left(\frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \frac{t^7}{7!r^7} + \frac{t^8}{8!r^8} + \dots \right) - a^6r^6 \left(\frac{t^7}{7!r^7} + \frac{t^8}{8!r^8} + \frac{t^9}{9!r^9} + \frac{t^{10}}{10!r^{10}} + \dots \right) \pm \dots \end{aligned} \quad (3.11)$$

The (3.11) can be rewritten as follow

$$\begin{aligned} \sum_{i=0}^{\infty} V(i)t^i &= \left(e^{\frac{t}{r}} - 1 \right) - a^2r^2 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} \right) + a^4r^4 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} \right) \\ &\quad - a^6r^6 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} - \frac{t^5}{5!r^5} - \frac{t^6}{6!r^6} \right) \pm \dots \end{aligned}$$

At the end, the Sumudu transform of $\cos(at)$

$$\begin{aligned} S[\cos(at)] &= \left(1 - \frac{1}{e^{\frac{t}{r}}} \right)_{t=0}^{t=\infty} - a^2r^2 \left(1 - \frac{1}{e^{\frac{t}{r}}} - \frac{t}{re^{\frac{t}{r}}} - \frac{t^2}{2r^2e^{\frac{t}{r}}} \right)_{t=0}^{t=\infty} + a^4r^4 \left(1 - \frac{1}{e^{\frac{t}{r}}} - \frac{t}{re^{\frac{t}{r}}} - \frac{t^2}{2r^2e^{\frac{t}{r}}} - \frac{t^3}{3!r^3e^{\frac{t}{r}}} - \frac{t^4}{4!r^4e^{\frac{t}{r}}} \right)_{t=0}^{t=\infty} \\ &\quad - a^6r^6 \left(1 - \frac{1}{e^{\frac{t}{r}}} - \frac{t}{re^{\frac{t}{r}}} - \frac{t^2}{2r^2e^{\frac{t}{r}}} - \frac{t^3}{3!r^3e^{\frac{t}{r}}} - \frac{t^4}{4!r^4e^{\frac{t}{r}}} - \frac{t^5}{5!r^5e^{\frac{t}{r}}} - \frac{t^6}{6!r^6e^{\frac{t}{r}}} \right)_{t=0}^{t=\infty} \pm \dots \\ &= 1 - a^2r^2 + a^4r^4 - a^6r^6 + a^8r^8 - a^{10}r^{10} \pm \dots \\ &= \frac{1}{1+a^2r^2} \end{aligned}$$

Case 3: In the Theorem 3.1, let $q(t) = \frac{\sin(at)}{t}$. Again, by considering (3.4) and Table 1 we can write

$$V(i+1) = \frac{1}{r} \frac{V(i)}{i+1} + \frac{1}{r(i+1)} \begin{cases} \frac{a^i(-1)^{\frac{i}{2}}}{(i+1)!}, & i \text{ even} \\ 0, & i \text{ odd} \end{cases}$$

$$V(0) = 0$$

In that case, we can write some of $V(i)$ as

$$\begin{aligned} V(1) &= \frac{1}{r} & V(2) &= \frac{1}{2!r^2} & V(3) &= \frac{3-a^2r^2}{3 \times 3!r^3} & V(4) &= \frac{3-a^2r^2}{3 \times 4!r^4} \\ V(5) &= \frac{15-5a^2r^2+3a^4r^4}{15 \times 5!r^5} & V(6) &= \frac{15-5a^2r^2+3a^4r^4}{15 \times 6!r^6} \\ V(7) &= \frac{105-35a^2r^2+21a^4r^4-15a^6r^6}{105 \times 7!r^7} \\ &\vdots & & \vdots & & \vdots \end{aligned} \quad (3.13)$$

By considering (3.5) in the Theorem 3.1 and using (3.13), we have

$$\sum_{i=0}^{\infty} V(i)t^i = a \left(\frac{t}{ar} + \frac{t^2}{2!ar^2} + \frac{t^3}{3!ar^3} + \frac{t^4}{4!ar^4} + \frac{t^5}{5!ar^5} + \dots \right) - \frac{1}{3}a^3r^2 \left(\frac{t^3}{3!ar^3} + \frac{t^4}{4!ar^4} + \frac{t^5}{5!ar^5} + \frac{t^6}{6!ar^6} + \dots \right) \quad (3.14)$$

$$+ \frac{1}{5}a^5r^4 \left(\frac{t^5}{5!ar^5} + \frac{t^6}{6!ar^6} + \frac{t^7}{7!ar^7} + \frac{t^8}{8!ar^8} + \dots \right) - \frac{1}{7}a^7r^6 \left(\frac{t^7}{7!ar^7} + \frac{t^8}{8!ar^8} + \frac{t^9}{9!ar^9} + \frac{t^{10}}{10!ar^{10}} + \dots \right) \pm \dots$$

The (3.14) can be rewritten equally as below

$$\sum_{i=0}^{\infty} V(i)t^i = a \left[\frac{1}{a} \left(e^{\frac{t}{r}} - 1 \right) \right] - \frac{a^3r^2}{3} \left[\frac{1}{a} \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} \right) \right] + \frac{a^5r^4}{5} \left[\frac{1}{a} \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} \right) \right]$$

$$- \frac{a^7r^6}{7} \left[\frac{1}{a} \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} - \frac{t^5}{5!r^5} - \frac{t^6}{6!r^6} \right) \right] \pm \dots$$

Finally, by using (3.6) we obtain the Sumudu transform of $\frac{\sinh(at)}{t}$

$$S \left[\frac{\sinh(at)}{t} \right] = \left[e^{-\frac{t}{r}} \sum_{i=0}^{\infty} V(i)t^i \right]_{t=0}^{t=\infty} = a - \frac{a^3r^2}{3} + \frac{a^5r^4}{5} - \frac{a^7r^6}{7} \pm \dots = \frac{\tan^{-1}(ar)}{r}$$

Case 4: In the Theorem 3.1, let $q(t) = \sinh(at)$. Then, considering (3.4) and Table 1 we can write

$$V(i+1) = \frac{1}{r} \frac{V(i)}{i+1} + \frac{1}{r(i+1)} \begin{cases} \frac{a^i}{i!}, & i \text{ odd} \\ 0, & i \text{ even} \end{cases} \quad (3.15)$$

$$V(0) = 0$$

By means of (3.15), $V(i)$ are obtained following

$$V(1) = 0 \quad V(2) = \frac{a}{2!r} \quad V(3) = \frac{a}{3!r^2} \quad V(4) = \frac{a(1+a^2r^2)}{4!r^3}$$

$$V(5) = \frac{a(1+a^2r^2)}{5!r^4} \quad V(6) = \frac{a(1+a^2r^2+a^4r^4)}{6!r^5} \quad (3.16)$$

$$V(7) = \frac{a(1+a^2r^2+a^4r^4)}{7!r^6} \quad V(8) = \frac{a(1+a^2r^2+a^4r^4+a^6r^6)}{8!r^7}$$

$$\vdots \quad \quad \quad \vdots \quad \quad \quad \vdots$$

From (3.5) in the Theorem 3.1 and from (3.16), we have

$$\sum_{i=0}^{\infty} V(i)t^i = ar \left(\frac{t^2}{2!r^2} + \frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \dots \right) + a^3r^3 \left(\frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \dots \right) \quad (3.17)$$

$$+ a^5r^5 \left(\frac{t^6}{6!r^6} + \frac{t^7}{7!r^7} + \frac{t^8}{8!r^8} + \dots \right) + a^7r^7 \left(\frac{t^8}{8!r^8} + \frac{t^9}{9!r^9} + \frac{t^{10}}{10!r^{10}} + \dots \right) + \dots$$

And the equation (3.17) can be written as equivalently below

$$\sum_{i=0}^{\infty} V(i)t^i = ar \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} \right) + a^3r^3 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} \right) + a^5r^5 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} - \frac{t^5}{5!r^5} \right)$$

$$+ a^7r^7 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} - \frac{t^5}{5!r^5} - \frac{t^6}{6!r^6} - \frac{t^7}{7!r^7} \right) + \dots$$

As a results, we find the Sumudu transform of $\sinh(at)$

$$S[\sinh(at)] = \left[e^{-\frac{t}{r}} \sum_{i=0}^{\infty} V(i)t^i \right]_{t=0}^{t=\infty} = ar + a^3r^3 + a^5r^5 + a^7r^7 + a^9r^9 + \dots = \frac{ar}{1-a^2r^2}$$

Case 5: In the Theorem 3.1, let $q(t) = \cosh(at)$. Then, considering (3.4) and Table 1 we can write

$$V(i+1) = \frac{1}{r} \frac{V(i)}{i+1} + \frac{1}{r(i+1)} \begin{cases} \frac{a^i}{i!}, & i \text{ even} \\ 0, & i \text{ odd} \end{cases}$$

$$V(0) = 0$$

Hence, some of the $V(i)$ are obtained as

$$\begin{aligned} V(1) &= \frac{1}{r} & V(2) &= \frac{1}{2!r^2} & V(3) &= \frac{1+a^2r^2}{3!r^3} & V(4) &= \frac{1+a^2r^2}{4!r^4} \\ V(5) &= \frac{1+a^2r^2+a^4r^4}{5!r^5} & V(6) &= \frac{1+a^2r^2+a^4r^4}{6!r^6} \\ &\vdots & & \vdots & & \vdots \end{aligned} \quad (3.18)$$

Once again, by using (3.5) in the Theorem 3.1 and from (3.18), we have

$$\begin{aligned} \sum_{i=0}^{\infty} V(i)t^i &= \left(\frac{t}{r} + \frac{t^2}{2!r^2} + \frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \cdots \right) + a^2r^2 \left(\frac{t^3}{3!r^3} + \frac{t^4}{4!r^4} + \frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \cdots \right) \\ &+ a^4r^4 \left(\frac{t^5}{5!r^5} + \frac{t^6}{6!r^6} + \frac{t^7}{7!r^7} + \frac{t^8}{8!r^8} + \cdots \right) + a^6r^6 \left(\frac{t^7}{7!r^7} + \frac{t^8}{8!r^8} + \frac{t^9}{9!r^9} + \frac{t^{10}}{10!r^{10}} + \cdots \right) + \cdots \end{aligned} \quad (3.19)$$

The (3.19) can be rewritten equally as follow

$$\begin{aligned} \sum_{i=0}^{\infty} V(i)t^i &= \left(e^{\frac{t}{r}} - 1 \right) + a^2r^2 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} \right) \\ &+ a^4r^4 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} \right) \\ &+ a^6r^6 \left(e^{\frac{t}{r}} - 1 - \frac{t}{r} - \frac{t^2}{2r^2} - \frac{t^3}{3!r^3} - \frac{t^4}{4!r^4} - \frac{t^5}{5!r^5} - \frac{t^6}{6!r^6} \right) + \cdots \end{aligned} \quad (3.20)$$

Finally, we find the Sumudu transform of $\cosh(at)$

$$S[\sinh(at)] = \left[e^{-\frac{t}{r}} \sum_{i=0}^{\infty} V(i)t^i \right]_{t=0}^{t=\infty} = 1 + a^2r^2 + a^4r^4 + a^6r^6 + a^8r^8 + \cdots = \frac{1}{1-a^2r^2}$$

4. Conclusion

As a result, we use the differential transform method (DTM) to find Sumudu Transform of functions as a different way. Moreover, contrary to the literature we obtain the Sumudu transform of functions easily without complex integration and long calculations.

References

- [1] G. K. Watugala, *Sumudu transform: a new integral transform to solve differential equations and control engineering problems*, Internat. J. Math. Ed. Sci. Tech., **24**(1) (1993), 35–43.
- [2] F. B. M. Belgacem, A. A. Karaballi, S. L. Kalla, *Analytical investigations of the Sumudu transform and applications to integral production equations*, Math. Probl. Eng., **3** (2003), 103–118.
- [3] F. B. M. Belgacem, *Sumudu transform applications to Bessel functions and equations*, Appl. Math. Sci., **4** (2010), 3665–3686.
- [4] G. K. Watugala, *Sumudu transform new integral transform to solve differential equations and control engineering problems*, Math. Engrg. Ind., **6**(4) (1998), 319–329.
- [5] A. Kilicman, H. E. Gadain, *An Application of Double Laplace transform and double Sumudu transform*, Lobachevskii J. Math., **30**(3) (2009), 214–223.
- [6] A. Kilicman, H. E. Gadain, *On the applications of Laplace and Sumudu transforms*, J. Franklin Inst., **347**(5) (2010), 848–862.
- [7] M. Zahid, M. A. Rana, T. Haroon, A. Siddiqui, *Applications of Sumudu transform to MHD flows of an Oldroyd-B fluid*, Appl. Math. Sci., **7** (2013), 7027–7036.
- [8] M. A. Rana, A. Siddiqui, Q. K. Ghori, R. Qamar, *Application of He's Homotopy perturbation method to Sumudu transform*, Int. J. Nonlinear Sci. Numer. Simul., **8**(2) (2007), 185–190.
- [9] N. A. A. Rahman, M. Z. Ahmad, *Applications of the fuzzy Sumudu transform for the solution of first order Fuzzy differential equations*, Entropy, **17**(7) (2015), 4582–4601.
- [10] O. M. Ogunlaran, H. S. Yusuf, *Adomian Sumudu transform method for the Blasius equation*, British J. Math. Comput. Sci., **14**(3) (2016), 1–8.
- [11] S. Abbasbandy, *Applications of He's homotopy perturbation method for Laplace transform*, Chaos Solitons Fractals, **30**(5) (2006), 1206–1212.
- [12] H. Fatoorehchi, H. Abolghasemi, N. Magesh, *The differential transform method as a new computational tool for Laplace transforms*, Nats. Akad. Sci. Lett., **38**(2) (2015), 157–160.
- [13] E. Babolian, J. Biazar, A. R. Vahidi, *A new computational method for Laplace transforms by decomposition method*, Appl. Math. Comput., **150**(3) (2004), 841–846.
- [14] C. K. Chen, S. H. Ho, *Solving partial differential equations by two-dimensional differential transform method*, Appl. Math. Comput., **106**(2-3) (1999), 171–179.
- [15] M. J. Jang, C. Li Chen and Y. C. Liy, *On solving the initial-value problems using the differential transformation method*, Appl. Math. Comput., **115**(2-3) (2000), 145–160.
- [16] M. Gubes, H. A. Peker, G. Oturanc, *Application of Differential transform method for El Nino southern oscillation (ENSO) model with compared Adomian decomposition and variational iteration methods*, J. Math. Comput. Sci., **15**(3) (2015), 167–178.
- [17] M. Gubes, G. Oturanc, *Approximate solutions of coupled Ramani equation by using RDTM with compared DTM and exact solutions*, New Trends Math. Sci., **4** (2016), 198–212.